



Potential Energy = Weight X Distance 5.43 lbs. X 32ft= 173.76 ft pounds of potential energy

Impact Forces= Potential Energy / 0.01ft (stopping distance) 182.4 ft pounds / 0.01 = 17,376 pounds of force

## 17,376 Lbs. of Force



Potential Energy = Weight X Distance 4.375 lbs. X 32ft= 140 ft pounds of potential energy

Impact Forces= Potential Energy / 0.01ft (stopping distance) 140 ft pounds / 0.01 = 14,000 pounds of force

## 14,000 Lbs. of Force



Potential Energy = Weight X Distance 2.687 lbs. X 32ft= 85.98 ft pounds of potential energy

Impact Forces= Potential Energy / 0.01ft (stopping distance) 85.98 ft pounds / 0.01 = 8,598.4 pounds of force

#### 8,598 Lbs. of Force



Potential Energy = Weight X Distance 0.93 lbs. X 32ft= 29.76 ft pounds of potential energy

Impact Forces= Potential Energy / 0.01ft (stopping distance) 29.76 ft pounds / 0.01 = 2,976 pounds of force

## 2,976 Lbs. of Force





Potential Energy = Weight X Distance 4.43 lbs. X 32ft= 141.76 ft pounds of potential energy

Impact Forces= Potential Energy / 0.01ft (stopping distance) 141.76 ft pounds / 0.01 = 14,176 pounds of force

# 14,176 Lbs. of Force







#### Channel Locks 14 oz



Potential Energy = Weight X Distance 0.875 lbs. X 32ft= 28 ft pounds of potential energy

Impact Forces= Potential Energy / 0.01ft (stopping distance) 28 ft pounds / 0.01 = 1,792 pounds of force

# 2,800 Lbs. of Force



Potential Energy = Weight X Distance 1.437 lbs. X 32ft= 45.98 ft pounds of potential energy

Impact Forces= Potential Energy / 0.01ft (stopping distance) 45.98 ft pounds / 0.01 = 4,589.4 pounds of force









Potential Energy = Weight X Distance 1.25 lbs. X 32 ft= 41.25ft pounds of potential energy

Impact Forces= Potential Energy / 0.01ft (stopping distance) 41.25 ft pounds / 0.01 = 4,125 pounds of force

# 4,125 Lbs. of Force



